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length of the curve z(t) = % y(¢t) = t*, 1 <t < 3. Hint: You’ll most likely need
d trig sub to compute the integral you eventually get, which should look like
/ 4t3,/(2t4)2 + 1dt  (or something equivalent).
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up ar} integral that represents the surface area of the solid formed when the portion of NML
d z(t) = 2(t —sint), y(t) = 2(1 —cost), 0 < t < 4, is revolved about the z-axis.
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1 the exact surface area obtained by rotating the curve z = 2cos®t, y = 2sin’t,
t £ 71/2 about the z-axis. L= \7{
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d |s (f a particle p traveling along the path z = f(¢), y = g(t) is defined to be
[f'(t))? + [¢'(t)]?. If p moves around an elliptical track according to the equations
y =pin2¢, 0 <t < 27, when is its speed the greatest? When is it the least?
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